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| Ll BT 1,692 1,929 2,120 4,049 | FR—TH 242 335 375 710
B A iy 234 210 228 438 | FE_TH 174 294 276 570
2 I BT 17 14 20 34 | EE=TH 197 304 285 589
AE—TH 207 166 244 410 FEETH 107 158 152 310
AME-TEH 301 223 299 522 | #iEl—TH 212 240 273 513
AB=TH 244 190 265 455 FH—TH 439 531 573 1,104
| SRR ET 380 323 406 729 | FEW=TH 277 384 403 787
T ALRET 529 440 569 1,009 | E#FE—TH 2 2 0 2
|7 3th BT 489 483 519 1,002 EEE_-TH 0 0 ‘0 0
ARET 554 602 661 1,263 E:E L 2,866 3,732 4,205 7,937
+ pu { e 0T 94 90 128 218 | A & BT 6,399 7,546 8,408 | 15,954
ET—TH 408 340 426 766 | &+ 4 AT 2,749 2,697 3,079 5,776
EI_TH 432 358 493 851 | R 5 A B AT 1,774 1,975 2,130 4,105
E{=TH 467 513 567 1,080 | (5= T 2,067 2,132 2,276 4,408
+ i [ BT 72 79 91 170 R B b AT 56 60 62 122
+#—-TH 260 257 293 550 | 5 G5 i BT 93 83 102 185
+#-TH 181 181 229 410 | B 5 5 3 B 212 238 257 495
R4 EE] 224 184 222 406 | R & ET 2,171 2,686 2,806 5,492
iz =401 211 180 231 411 | R & K i AT 380 389 443 832
B T BT 111 91 126 217 K & B H 0T 1,490 1,855 1,889 3,744
74 1 7 BT 251 206 303 509 | B & B oy 359 371 416 787
HiE—TH 385 398 420 818 | BRI B ¥ 4T W] 359 404 . 435 839
HE_TH 165 148 178 326 |38 AT 3,802 4,385 4,863 9,248
2 E T 430 469 542 1,011 & 2t 62,967 | 72,154 | 79,526 | 151,680
I HE AT 295 327 349 676 iR &Et 62,964 | 72,210 | 79,583 | 151,793
EHET 224 256 262 518 B 3 -56 -57 -113
= f1 76 AT 429 403 466 869 BiI4E FIHA 62,636 | 72,556 | 80,197 | 152,753
e o BT 383 446 481 927 RISEZEB 331 -402 -671 -1,073
=T HT 408 396 443 839
BT 337 395 442 837
= i BT 334 318 401 719
EHEr 397 407 485 892
B He i BT 424 457 488 945
== FOH] 489 583" 660 1,243
=X iE L 463 395 490 885
PR L 560 599 741 1,340
| BRER—TH 393 373 430 803
| BRE_TH 626 626 646 1,272
| BEFE—TH 336 339 389 728
ET i=an: 339 413 401 814
5 RISk BT 452 479 574 1,053
74 i S BT 396 435 476 911
E L 108 110 129 239
| RLHT 230 277 295 572
P9 B A} 813 1,078 1,157 2,235
ET 3,644 4,234 4,454 8,688
NI Li 512 522 606 1,128
E92 1) 3,434 4,398 4,629 9,027
K EH] 960 1,270 1,315 2,585
| B mAT 623 683 809 1,492
| P gL 634 889 946 1,835
| ] 4,122 5,264 5,558 10,822
B R AT 368 290 385 675
| b Y 1,481 1,841 2,072 3,913
] 52 B 3,969. 4,754 5,237 9,991
HEW 19 22 22 44




